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. Computerfield 2 7]

Computerfield Inc.

Income Statement

computerfield Inc. For Year Ended December 31,
Balance Sheet 20X1
December 31, 20X1 Revenues 1000
Assets 500 Debt 250] Less: costs (800)
Equity 250 Net Income 200

Total 500 Total 500
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. Computerfield i il it 55 ik %
i Computerfield Inc.
s AR E: Pro Forma Income Statement
s GYEEI A\ IR 2K For Year Ended 20X2
20% (1,000%1.2) Revenues 1,200
o BREFTEIUHEHE Less: costs (960)
BN 2 8] 2 28 144
A, HHBIMIIRAR Net Income 240
se L o

= K, BRI H AR
WA BN TE 1 20%
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. Computerfield 5 4 45+ &

Computerfield Inc.

Pro Forma Balance Sheet

B T Case I
O rﬁ l:
o BRI AT R, BT Rk ASSets 600 Debt 300
TE MBS, A 2 A N 3 Equity 300
20%: Total 600 Total 600
s A =240 (GFAH)JE) — 50
(AW aE) =190 Computerfield Inc.
Pro Forma Balance Sheet
=« [FH I Case II
s RSN E, HIRFSL  Assets 600 Debt 110
] Equity 490

= %% = 600-(250+240)=110
s PERfES: 250 — 110 = 140

Total 600 Total 600
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i BYEEH A HiE

s P TURE

o AJFBCEATH RIS IH (EHEEER ™) #E
B B AR B T AL .

o AT G S WL BE B AR B AR Bl

= IO, TR a B AN A B A
AANMALS), BB T R I B ARG D

*o
-%ﬁ%$¢ B A7 WS 2 1R A AR B 800 SR 2k
1R TE
n JMEE T F 2K (External Financing Needed ,
EFN)

o ST IR BEARHE S TR S A AN A B R 2
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WJ . Rosengarten

Rosengarten

Income Statement, 20X0

Sales
Less: costs
EBT

Less: taxes
(34% of
EBT)

Net Income
Dividends

Add. To RE

1,000
(800)

200
(68)

132

44
88

% of
Sales

80%
20%
6.8%

13.2%

Rosengarten

Pro Forma Income Statement, 20X1

Sales 1,250
Less: costs (1,000)
EBT 250
Less: taxes (85)
Net Income 165
Dividends 55

Add. To RE 110

e B E W AT K:25%
BRI S AT R = 1300158 R
%
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WJ . Rosengarten

Rosengarten — Balance Sheet

current——%-of Pro Current % of Pro
Sales Forma Sales Forma
ASSETS Liabilities & Owners’ Equity
I Current Assets Current Liabilities
Cash $160 16% $200 | A/P $300 30% $375
A/R 440 44 550 | N/P 100 n/a 100
Inventory 600 60 750 Total 400 n/a 475
Total 1,200 120 1,500 | LT Debt 800 n/a 800
Fixed Assets Owners’ Equity
Net PP&E 1,800 180 2,250 | CS & APIC 800 n/a 800
Total Assets 3,000 300 @) RE 1,000 n/a 1,110
Total 1,800 n/a 1,910

T —

Total L & OE 3,000 3,185
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i%: FIT 5 1 &7l Rt

s fiffi %€ T 5 B #15B R 5% (External Financing
Needed, EFN)

s AT TR BAIMISS65 I BT E (i 55 Bk i)
s ST — B = 3,750 — 3,185 = $565
n IEPEFTRER IR T AR R DA A BT 7 >R ($565)

o fENEL BN (R 4R)
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TA NI
X = x (1 + x b
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B NI x b
£ TA - NI x b

ROA xb
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Internal Growth Rate = g, =
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